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37. Which of th� following organs is a part of a closed system of the human body?
(I) Eye (2) Ear _(3) Heart (4) Kidney (5). Lung 

38. Which of the following statements is correct?
(I) Application software load applications into the main memory.
(2) The programs stored in ROM are known as system software.
(3) System software support data communication between peripheral devices.
(4) Utility software is generally stored in ROM.
(5) Utility software are incorporated in washing machines.

39. Consider the following data input devices:
A - On screen keyboard (virtual keyboard)
B - Bar code reader 
� - Magnetic card reader 

Which of the above devices can be used to input data more efficiently? 
(I) A only (2) B only (3) C only (4) A and 8 only (5) 8 and C only

40. Consider the following statements regarding CSS used in HTML:
A - One style sheet can define the rendering of HTML elements in multiple documents.
8 - No additional download is needed to import style sheet<;.
C - The HTML document must include a <link> tag.
D - The style attribute is required in the relevant element.

Which of the above statements are correct when using External Style Sheets?
(l) A and 8 only (2) A and C only (3) 8 and D only
(4) A, C and D only (5) 8, C and D only

41. Whicti of the f<:>llowing statements about Python data types/expressions is correct?
( l )  String is a mutable data type.
(2) List is an immutable data type.
(3) [l , 2, 31 is a tuple.
(4) The expression LI, 2, 3] [Il will produce f21 when executed.
(5) The type of {'a': I, l :(I, 2)} is a Dictionary.

42. Consider the following values:
A - 2.3e2
8 - TRUE
C - "This isn't a string"
D - II 

Which of the above values are valid in Python?
(I) A and B only (2) A and C only
(4) A, B and C only (5) A, C and D only 

43. Consider the following Python statement:
temp = U, 2, 3, 4, 5, 6] [2::2]

(3) 8 and C only _

Which of the followings is the value of the variable temp after executing the above statement?
(I) 2, 4, 6 (2) 3, 5 (3) l2, 31 (4) f3, 51 (5) [2, 4, 61

44. Consider the following statements:
A - a=b=2+3 
B - a, b = 2, 3 
C - a, b = (2, 3) 
D - a = (2, 3) 

Which of the above are valid assignment statements in Python? 
(I) A and 8 only (2) B and C only (3) C and D only
(4) A, B and C only (5) All A, B, C and D

[See page seven 
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45. Consider the following Python expressions:
A - True or False and True
B - 3 > 2 and False
C - {2, 3} = {3, 2}
D - (2, 3) = (3, 2)

-7-

Which of the above expressions would result in the Boolean value True?
(1) A and B only (2) A and C only (3) B and C only
(4) B and D only {5) C and D only

46. The content of two files with names "in.csv" and "out.csv" are shown in the figures "Fig. l" and "Fig. 2"
respectively.

• 

Ruvan, 20, 50 
Ramesh, 0, 5 
Raj, IO, IO 

Fig. 1: in.csv 

Ruvan 20 50 70 
Ramesh 0 5  5
Raj lO 10 20 

Fig. 2: out.csv 

. Which of the following Python programs can be used to transform the data in "in.csv" to the content of 
the file "out.csv"? 

(1) (2) 
fl=open("in.csv", "r") fl=open("in.csv", "r") 
f2=open("out.csv", "r") f2=open("out.csv", "w") 
for line in fl: for line in fl: 

items=line.stripQ.split(" ,") items=line.strip() 
tot=int(items[l l)+int(items[2]) tot=int(items[l ])+int(items[2]) 
print(items[0], items[ l ], items[2J, tot, file = f2) print(items[0], items[ I], items[2], tot) 

fl.close() f l  .close() 
f2.close() f2.close() 

(3) (4) 
fl=open("in.csv", "r") f l=open("in.csv", "r") 
f2=open("out.csv", "w") f2=open("out.csv", "w") 
for line in fl: for line in fl: 

items=line.strip().split(" ,") items=line.strip().split(" ,") 
tot=int(items[l])+int(items[2]) tot=items[ I ]+items[2] 
print(items[0], items[l l, items[2], tot, file = f2) print(items[0], items[l], items[2], tot, file = f2) 

fl.close() fl.close() 
f2.close() f2.close() 

(5) 
fl=open("in.csv", "r") 
f2=open("out.csv", "w") 
for line in f l :  

items=line.strip().split(" ,") 
tot=int(items[l ])+int(items[2]) 
print(items[0], items[l ], itemsf2], tot, file = fl) 

fl.close() 
f2.close() 

47. Consider the following statements on using NAND, NOR gates over NOT, AND, OR gates when constructing
logic circuits:

A - They make logic circuit design simpler. 
B - They help to construct logic circuits that consume less electricity. 
C - They make logic circuit construction more economical. 

Which of the above statements is/are correct? 
(1) A only (2) B only (3) A and B only (4) A and C only (5) B and C only

(See page eight 
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48. Which of the following functions gives the sum of all elements in any list of integers?

(1) def f(x):
s = x[O]

(2) _deff{x):
s = x[O]

(3) def f(x): .

s =O
for i in range (0, len(x)): for i in range (1, len(x)): for i in x: 

· s=s+i
returns

S:;;;;S+i 
returns 

(4) deff(x):
s=O

for i in x: 
S=S+ x[i] 

returns 

S=S+i 
returns· 

(5) def f{x):
s=O

i == 0 
while i < len(x): 

s=s+ x[i] 
returns 

49. Consider the following system implementation methods:
A - Direct

. B .- Pilot 1m iron 1mon n metls:

C - Parallel inlemt 

Which of the above method(s) is/are generally used to implement a home security system? 
(1) A only (2) B only (3) C only
(4) A and B only (5) A and C only

SO. Consider the following clauses: 
A - can response to relevant environment changes 
B- - always acts according to well-defined user instructions
C - perfonns only pre-defined set of tasks
D - can make decisions under incomplt?te information

Which of the above can be considered as properties of software agent system? 
(1) A and B only (2) A and C only (3) A and D only
(4) B and C only (5) C and D only

*** 
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